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Week #7 o Multiloop circuits #2.

Problem #4. Each resistor
is 4 Q and each battery is
4 V. Find the current
through resistor R.

There’s a trick to this. You
need to find the potential
difference across R. You
can do this using the
method of “walking” from
one end of the resistor to
the other and keeping track
of the potential differences ,
along the way. The ]

potential difference of a ‘ ' %
battery is easy. The : ‘

potential difference of a

resistor is harder because
you need to know the current though it, so best to avoid resistors during your walk.

Problem #5 Each capacitor is 10 pF § § § :
and each battery is 5 V. Find the ‘L ' L ke
charge on capacitor C. - — w——
The text calls problems #4 and #5 o — T —
circuit “mazes”. See why? ‘ 5
- i
s e? s - w—— l
———— —— ek
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Problem #6
E, = 10 V and battery E, is supplying a power of 10 W.

R =100 Q.

The square on the bottom right-hand-side of the circuit labeled E; is
a battery.

e What is E,? Is battery E, supplying power or charging?

e What is the voltage across the 3R resistor?

e How much power is dissipated by the resistors in the circuit?
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